HERBRTO 1 N
TH6(2024) £ MPBLURSEFRMALRKS

4706 (2024) &£ 11 ATH ~9H
BRI EAEEE
BFERX % LR BFERMI ELRE
MAWLITE 3 - 1 |H i Al El 3 - 0 |# =
T - 8 13 - 11
1 - 7 11 - 5
1S| W WA [3|8 - 1|1 EBE Bt | [1S|kak KW (311 - 5|0 &0 @
11 -5 3
571 T =8
7 - 11 11 - 6
28| E#E K¥E (0|9 - 11|3| H)I 2—p| |2S| e EF0 [3]12 - 10{0| A0
T =13 "
lifz A 11 -3 FE Fh Tt %G 1M1 -8 HH RE
38 3|11 - 6|1 35 3|11 - 8|1
it = 1M - 4 o AR X 12 - 10 =R &#&X
T - 3 -
11 - 5 -
4S| Rph A& (311 - 8|0 K& XZEE | |4S| BHAK #HIK - SH RE
T -
8 - 11 -
5| #T M |11 - 9|2| m it ||5S| ittt RiA - #O EX
BFERMI ERRE BFERMI ELRE
[A] sl 3 - 1 |BA 5 MILEmE 3 - 1 |[WEHEAX
- 4 M- 7
11 - 8 11 - 3
1S| HE BE |31 - 4|0 B4 £ | [1S| E B (311 - 6|0 Eus E
571 T =6
5 - 11 11 - 9
2S| ¥R BRKBA |09 - 11|3| %k IEH 28| AKX EE 3|11 - 8|0| AR HAKH
=7 0= 12
e BE 11 - 8 ® IEH HKBE 4 - 11| | Ar BXH
38 3|11 - 7|0 35 111 - 413
Bme RE - Fe U A 25 i fEA 4 - 11 i hE
6 - 14 9 - 11
8 - 11 11 - 6
45| HEa RE (311 - 81| WG MBI | [4S| s BA (3|11 - 8|1 EHME EHE
11 - 9 11 - 8
T - 7 1 - 9
7 - 11 11 - 6
5S| FRIE WEBA (2| 6 - 11|3| i s3I | |5S| AT %2 (3|11 - 7|0| @2
1 - 7 -
9 - 11 -




TH6(2024) FE MAUBRSFFARHARRKS
4706 (2024) 11578 ~9H
BERTI R EHHE
BFERMN ERE BFFRAN ERE
MEWIE 3 - 1 |4 [ M#ILEER 3 - 0 @ /5
7 - 8 7 - 4
8 - 11 1 -7
1S| Wiz #;MA |3 H - ;, b R\ | |1S| FE BN (3|11 - 5|0| FiE HEH]
5 - T -6
4 - 11 11 - 13
25| E# K (1|11 - 3(3| @ B | (28| L BA (3|11 - 8|1 HE HE
6 - 11 13 - 11
T - 4 - 7
Wiz A 11 - 5 Tt R AR BE 1 - 4 Ta BE
38 3|11 - 9 3s 3|11 - 70
Faith & - BR X AT BEC - Be RE
7 - b -
11 - 3 -
4S| fpih wA [3[11 - 2 |0|{ERAR R | [4S| BK HE - BE RE
5T -
6 - 11 -
55| ®T & (0|5 - 11 AR FIKX | |5S| AT & - AR BEAEA
BFFRAHRRE BFERMH 3 FREE
MEBWLER 3 - 2 FFWUIX A E 3 - 1= bz
7 - b 13 - 15
11 - 6 5 - 11
1S| #FE BA (311 - 8|0 K K#E | |1S| stk RiE 1|11 - 7|3| HE BE
- 10 - 12
3= T =4
10 - 12 11 -5
28| % BA |1 é - H Wiz BA | (28| B Ef (3|11 - 4|0| #K BAH
0 - 12 -8
&k EE | |6 - 11| | Wi BA gk RiE | |11 - 9| | BE BE
38 1112 - 10 38 314 - 11[1
xE BN 8 - 11 ity B BR AKX 15 - 13 wme RE
12 = 10 7 - 5
11 - 6 11 - 3
48| KT &2 (3|11 - 0 R B | [4S| BK @WK (3|11 - 8|0| FiE HEH
T2 =10 5 =11
12 - 14 9 - 11
BS| &K HE (3|11 - 9|1| Mt =F | |5S|tkeK |E |11 - 8|2 BH RE
-9 -




